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401 Al HIZ 201 Y| 200,000 0 200,000
01 A& HI 200,000 0 200,000
OkZ2 2 48 24 200,000,000& * 14| 200,000
RS AMYEZ-R=Z ABEZ W4 150,000 0 150,000
401 A& HIZ 201 Y] 150,000 0 150,000
01 A& HI 150,000 0 150,000
OREs MNAE2-FFZ 22 N
150,000,000& * 14 150,000
EANE ¥ RA2e 4,187,864 5,889,496 A 1,701,632
HEXSsHA 1,620,000 3,000,000 A 1,380,000
401 Al HI K 201 I 1,620,000 3,000,000 A 1,380,000
01 A& HI 1,600,000 3,000,000 A 1,400,000
O&&X=3HALY 1,600,000,000& * 14l 1,600,000
03 A& =2 THHI 20,000 0 20,000
O&& XS ALY 20,000,000& =« 14 20,000
MK E2FH & B+ 886,364 238,536 647,828
101 @124l 36,364 28,536 7,828
04 JIZHHZ2Z2XNSE+ 36,364 28,536 7,828
OE2H H=HY o=2Y
86,5803 * 421 * 5 * 2104 36,364
305 a2 S 10,000 10,000 0
01 =& 10,000 10,000 0
OEZAIEE QI2tel Tol thaf=s
10,000,000 * 14 10,000
401 AIEHI L 20 800,000 200,000 600,000
01 A& HI 795,000 200,000 595,000
OAIJXI E2&8H & 2=+
795,000,000 = 14l 795,000
03 Al S THHI 5,000 0 5,000
OAIJIA E2F3dl & 2= 5,000,000& » 14 5,000
405 XHoHF S HI 40,000 0 40,000
01 AL EZFH S 40,000 0 40,000
O0lsA WA Eh=ZY| 40,000,000& = 40,000
SZ2HEAEHE| 100,000 100,000 0
401 A& HIZ 201 Y] 100,000 100,000 0
01 A& HI 100,000 100,000 0
OE2HAE &l 100,000,000& * 14 100,000
g AN+ 400,000 150,000 250,000
401 AIEHI L 20 400,000 150,000 250,000
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 A& HI 400,000 150,000 250,000
OugsiE= 400,000,000 = 14l 400,000
2 wEZLUHM A 150,000 150,000 0
401 A& HIZ 2018 150,000 150,000 0
01 A& HI 150,000 150,000 0
Oung HMIH 2 150,000,000& * 14 150,000
WSHMAIE FHAY 80,000 90,000 210,000
401 AIEHI L 2] 80,000 90,000 210,000
01 A& HI 80,000 90,000 A 10,000
OusotdAIds & & 2=
80,000,000 = 14l 80,000
S22 AEFE 23| 1,500 960 540
202 044l 1,500 960 540
01 = LH o4 1l 1,500 960 540
OE2&el MEFa 20,0003 = 3H « 253 1,500
SEEUH &2 & AMIE€=2 ZHAMY 200,000 300,000 100,000
401 AIEHI L 2CHEI 200,000 300,000 100,000
01 A& tl 200,000 300,000 100,000
OsgHiib &2 ¢ Ald=2 Jul
200,000,000& * 1A 200,000
st 2 WSHMAIE HUIAY 200,000 200,000 0
401 AIEHI L 201 200,000 200,000 0
01 A& HI 200,000 200,000 0
Ostmg oI #A S &5
200,000,000& * 14! 200,000
FTRUIZE A2EBHE FUAY 300,000 0 300,000
401 Al HIZ 201 8] 300,000 0 300,000
01 A& HI 300,000 0 300,000
FRUNE AHHE FH ALY
300,000,000& * 14 300,000
T2YUSEE2 B 150,000 0 150,000
401 Al HIZ 201 Y] 150,000 0 150,000
01 A& HI 150,000 0 150,000
O=Lz2¢S2Etel 22 150,000,000& * 14 150,000
HESTE FZH 100,000 0 100,000
401 AIEHI L 20 100,000 0 100,000
01 A& HI 100,000 0 100,000
O XE &l 100,000,000& * 14 100,000
S =2 MLl 930,200 934,200 A 4,000
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M. T ZAIE2e
ool S EHAE2e (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
EZHEHS 762,200 766,200 A 4,000
201 LB-2d| 517,200 376,200 141,000
01 At 22l 412,200 271,200 141,000
Oogxtz 408,000
oMAXAIA R(EZX)
17,000,000 * 24CH 408,000
O= &l 4,200
oMAZY Z4aldl 7,000& = 30 = 204 4,200
02 =224l 105,000 105,000 0
OM&ZH SFH 95,000,000& = 14 95,000
ONM&ZH |XE=Hl 10,000,000& * 14 10,000
206 M= Hl 135,000 270,000 A 135,000
01 = Hl 135,000 270,000 A 135,000
OdZTH & & S MEARS
15,000,000& * 14 15,000
O & At 20,000& * 1,000m 20,000
Oogstz& 250,000& » 200& 50,000
ox3 100,000& * 200& 20,000
OAJNX E28+8 M 30,000,000& * 14 30,000
302 OI=L Mo 2 &3 30,000 30,000 0
02 QIZHITHOH R EFRESE N = 30,000 30,000 0
O=4ltl 7,000& = 80Y =« 304 16,800
O&= Sl 13,200,000 * 14 13,200
305 a2 S 10,000 10,000 0
o1 Hia=s 10,000 10,000 0
OM&AY BI2tollol BHa=2
10,000,000& * 14 10,000
405 THobH S| 70,000 80,000 210,000
01 XML = ZH SHI 70,000 80,000 210,000
OaZ)| 55,000,000& =« 1CH 55,000
OHM& DI 15,000,000& = 1CH 15,000
CEZHERH(SHS) 168,000 168,000 0
201 et 80,000 80,000 0
01 At 22l 55,000 55,000 0
O88s HMEXY =4l
7,000% * 20 * 102 * 2104 29,400
OSd8s My ZH Xt
25,600,000& * 14l 25,600
02 =224l 25,000 25,000 0
O8d8s HM&Exy Fdl KX
500,000& » 2104 2 10,500
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sSHs HMEx 14,500,000& = 14,500
405 TtHabF S| 88,000 88,000 0
01 AL EFSHSHI 88,000 88,000 0
Ooneayd 2,000,000& = 20CH 40,000
OatZ)| 12,000,000& * 4CH 48,000
TE 2el 3,406,500 3,333,080 73,420
ZOHE & =50 OE 2SS ME MY 100,000 100,000 0
401 A& HIZ 201 I 100,000 100,000 0
01 A& HI 99,000 99,000 0
OE2H¥ Jt2s 99,000, 000& 4l 99,000
03 A2 S THHI 1,000 1,000 0
O&E=2H 2SS 1,000,000 4| 1,000
SHs Btas A9 & 160,000 160,000 0
401 AIEHI L 20HEI 160,000 160,000 0
01 A& HI 160,000 160,000 0
Os¢s Itz - 228 &8 2 A
160,000,000 & 160,000
THEANEE FA2e , 745,000 ,709,000 36,000
201 2et24d] 2,030,000 ,009, 000 21,000
02 2324l 2,030,000 ,009, 000 21,000
OZ23e3 ¥ 2,030,000
oJt2s dD 1,060,000,000& Al ,060,000
o8BS &I 880,000,000& 4| 880,000
oZ&xYg H 90,000, 000& 4l 90,000
401 Al HIZ 201 8] 715,000 700,000 15,000
01 A& HI 700,000 685,000 15,000
OE=2 - F2XTHA #=ANE+= & I
700,000,000 4l 700,000
03 A& S THHI 15,000 15,000 0
Okz - ga=x #=ANE+= 2 I
15,000, 000& 4l 15,000
ST K& 150,000 150,000 0
307 glz2tol & 150,000 150,000 0
02 It M AHEE 150,000 150,000 0
OzZExeY 2o % &®I2 A
150,000,000& * 14 150,000
Lol RXSE ASH TAIOFE HE ALY 60,000 60,000 0
401 Al HIZ 201 I 60,000 60,000 0
01 A& HI 60,000 60,000 0
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M T 2AA2E
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OJ2 - Bets 25 & AMMH JHHAS
60,000,000& * 14l 60,000
MK SEXSE ZHAE HEALS 50,000 50,000 0
401 Al HI K 201 50,000 50,000 0
01 A& tI 50,000 50,000 0
OAIJHXl 28X ZHAE e
50,000,000& = 14 50,000
S22 AIFA 2 FHI 1,500 4,080 A 2,580
202 04l 1,500 4,080 A 2,580
01 S LHOYI 1,500 4,080 A 2,580
OLzxgael Ag=a
20,000% = 3" * 253 1,500
tz - 2ets =% FEI| i 70,000 0 70,000
401 Al HIZ 201 8] 70,000 0 70,000
01 A& HI 70,000 0 70,000
OXN=2 - Bots =5 FZJ| HH
70,000,000 = 14l 70,000
o ZHAIEZ2 HHIAY 70,000 0 70,000
401 A& HIZ 201 8] 70,000 0 70,000
01 A& HI 70,000 0 70,000
Odi ZHAIZ= FHl 70,000,000& = 14 70,000
HYR2IZH (=21) 403,769 345,550 58,219
el 2| 352,829 345,550 7,279
22 A AHHIXH 352,829 345,550 7,279
101 @124 dl 352,829 345,550 7,279
03 RIAHAZZ2RHE 352,829 345,550 7,279
oJlzs 130,202
=134 1,491,450& * 3H * 123 53,693
=184 1,593,920% * 4%¥ * 123 76,509
OoJlg=¢ 29,681
=134 2,061,450& = 3 * 200% 12,369
=184 2,163,920& * 4H » 200% 17,312
o¥dz2+¢ 14,841
= 13¢ 2,061,450 * 3 = 50% » 23 6,185
=184 2,163,920 * 4% = 50% » 23 8,656
OHXM=E el 37,101
=134 2,061,450 * 3H * 250% 15,461
= 18¢ 2,163,920 * 498 » 250% 21,640
OZd+g 25,200
octESdE 6,720
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HM: d¥2HFH(Z2 )
Sel: o2y (B9 ®R)
2.RA BB S (EH) - MBAY - BYS 0l &t o il HDS2
B[ RPN 40,000 * 74 = 1.0 » 12& 3,360
) 20,000& » 74 %= 2.0 » 12& 3,360
oELHEY 90,000 » 7H = 12& 7,560
oXNAEHALE 70,000& ~ 798 « 12& 5,880
oMY 60,000 » 7H x 12& 5,040
O=cl =4l 55,576
o ZHFAH| 160,000& » 79 = 12& 13,440
o JIH B X H| 110,000& = 7 = 12& 9,240
SEME-—yp sl 140,000& * 798 = 12& 11,760
o " A S| 17,809
134 2,061,450& » 38 =~ 120% 7,422
184 2,163,920 * 4% x 120% 10,387
o 2HAH| 1,800& * 22 + 798 « 12& 3,327
Oxl22E 24,176
o N2 ELE 22,000& » 50AI2t = 7H 7,700
o2 f4 7,000& * 20A12F » 7H 980
S N 110,680& + 79 = 20 15,496
OXHdsH B XE 1,200
SINE=3-igm} 300,000& = 1Y * 43 1,200
(@RTE==3] 2,800
oA AHA=Q 5B 100,000 » 7H x 43| 2,800
O=04dz2 242 312,355,000& * 4.5% 14,056
OHUEE 22 312,355,000& = 3.06% 9,559
OLEINAEE 23
9,559,000 * 6.55% 627
onssgy 22 312,355,000& * 1.5% 4,686
ONEE 22 312,355,000& * 1% 3,124
50,940 0 50,940
]l 50,940 0 50,940
282 A 27,480 0 27,480
AP 22l bl 27,480 0 27,480
Oget=gH| 9,000
OHIAMNIEES L MRIINAES
5,000,000& * 14 5,000
oAREHEHI| 2,000,000& * 14 2,000
oJ|Et+=&Hl 2,000,000& * 14 2,000
OZ &l 18,480
c)l2g s3I A
7,000& * 229 * 103 *» 12& 18,480
202 O B 11,880 0 11,880
01 2L Y] 11,880 0 11,880
OJlgeg2+a8 oyl 90,000& * 22H = 63| 11,880
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203 YR =&l 5,080 0 5,080
02 A& H 2= 880 0 880
OFAINNHSFA 40,0003 = 229 880
04 BN2IARETY 4,200 0 4,200
FN2EYRFA 350,000& = 123 4,200
405 KtobH S| 6,500 0 6,500
01 AL ESFH S 6,500 0 6,500
OLE=Z=H 1,500,000& * 1CH 1,500
OUIls= A 5,000,000& = 1CH 5,000
S(&E2) 2,560,000 2,640,000 280,000
NS 2,560,000 2,640,000 280,000
= ord 1,240,000 1,280,000 A 40,000
311 Xt S0l A& & 240,000 280,000 A 40,000
01 Al -3 - FXEHLI XY SOl AHAE 240,000 280,000 A 40,000
OXguw IJH& Xe= 0l Xk
240,000,000& * 14! 240,000
601 XL SAS&E 1,000,000 1,000,000 0
01 Al -2 - FXEHLI UL =S4 1,000,000 1,000,000 0
OXxdw Jid = &3
1,000,000,000& * 14l 1,000,000
F2EI0 B2 HE 1,320,000 1,360,000 A 40,000
311 X+ S0l At &f 320,000 360,000 A 40,000
01 Al -2 - FXNEMNLI XL S0l RS 320,000 360,000 A 40,000
OLZEIC HZE2ME U3 0k
320,000,000& * 14 320,000
601 XL S =4 1,000,000 1,000,000 0
01 Al-Z - AN =HL=d=o4 1,000,000 1,000,000 0
OLZEIC HZE2NE U3 |3
1,000,000,000& * 14 1,000,000
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A= 6,794,254 6,561,808 232,446
= 4,611,724
< 606,465
Al 1,576,065
FE ke 989,060 928,420 60,640
< 30,000
Al 959,060
=HEZEH 200,400 198,820 1,580
Z2t=8 ZSHOIX |X2el 2,600 2,600 0
201 et 2,000 2,000 0
02 2324l 2,000 2,000 0
OZZ=HO0IX RAL= 2,000,000& = 14 2,000
202 Odl 600 600 0
01 = LH 4 Hi 600 600 0
OZBFLUBY UR:T
20,0004 = 2H « 153 600
T -sEFASZEH 22 &4 4,400 4,200 200
202 04 tl 4,400 4,200 200
01 = LH 4 HI 4,400 4,200 200
O L ZLRTAY L=
20,000 * 2% = 1103 4,400
FHEZNE 2824 13,400 12,020 1,380
201 Let2d] 9,000 8,500 500
01 At 22l 9,000 8,500 500
OFAHEIMNE B2 s
9,000,000& = 14 9,000
202 044l 4,400 3,520 880
01 = LH &4 1l 4,400 3,520 880
FHEZME =& o
20,000& = 2% = 1103/ 4,400
22X 2 LSeEH F2F Y| 30,000 30,000 0
401 A& HIZ 201 I 30,000 30,000 0
01 A& HI 29,400 29,400 0
OEXIA=Z2 ATANEES £
29,400,000& * 14l 29,400
03 Al SR THHI 600 600 0
dXNA==S HHAIE=ES &1
600,000& * 14 600
FAHSZIH(ZEHGI2IIAY) 150,000 150,000 0
401 Al HIZ 201 Y] 150,000 150,000 0
01 A& HI 148,000 148,000 0
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FHEZ ZHl 20l 2,000,000& = 14l 2,000
SSTH2AC XA 767,200 705,400 61,800
< 30,000
Al 737,200
SATHY BESE /st S 707,200 705,400 1,800
202 o4dl 7,200 5,400 1,800
01 = LH o4 1l 7,200 5,400 1,800
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01 It 2 AL B X 700,000 700,000 0
OZS=8I&A 700,000,000 = 14! 700,000
A2 SSFE M FH A 60,000 0 60,000
< 30,000
Al 30,000
401 AIEHI L 20 60,000 0 60,000
< 30,000
Al 30,000
01 A& HI 60,000 0 60,000
O4LR2 BSFEY HHFY
60,000,000 = 14l 60,000
= 30,000
Al 30,000
H=HE 2 21,460 24,200 A2,740
ASHIMNHIAMS 10,460 13,200 N2,740
201 LBt 10,460 13,200 AN2,740
01 At 22l 10,460 13,200 A2,740
O%l&3al 3o 70,0003 * 23H * 63| 9,660
OCdZ=e I=4 200,000& » 49H 800
A=EH 222l 11,000 11,000 0
202 O4dl 9,000 9,000 0
01 =S LHAYI 9,000 9,000 0
OoAHP FXAHH 20,0003 » 3H * 1503 9,000
203 YR =&l 2,000 2,000 0
03 A F=AH S =AY 2,000 2,000 0
OAH=CE AI#FX 2,000,000& = 14 2,000
SIS E 5,764,654 5,599,688 164,966
= 4,611,724
= 576,465
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N = 0l & At & Ml A

ERYAE SN NRD
=2 N&EdE 28
AJIBHAIE Eel® 29 (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
1,235,600 978,779 256,821
= 61,400
Al 1,174,200
Ay 2 1,202,643 941,382 261,261
= 61,400
Al 1,141,243
AJIBHAIY Eel® 29 864,765 634,466 230,299
2 Y ASHSREAHAIY 91,015 63,286 27,729
201 Let24d] 11,540 13,540 A 2,000
01 At 22l 11,540 13,540 A 2,000
Oget=&H| 10,000
ocE2HEFA IJIFE SEESFY
1,000& = 10,000& 10,000
ozdg=¢ 1,540
CTRYEANE HYBM 4G
70,000& = 11 « 23| 1,540
308 XXM SOIA 14,475 0 14,475
10 3/ 2SOHUHS A ALS I 14,475 0 14,475
O=II=2FEBANAE SAE =4
11,150,000& * 14 11,150
Ozg=a Jlak dds AY
3,325,000& * 14 3,325
401 Al B2 28I 65,000 40,000 25,000
01 A& HI 65,000 40,000 25,000
OE2H=4 OHHAIE FH 2 WX
20,000,000& * 14l 20,000
OHgd T2dE S AUAIE &=
20,000,000& * 14l 20,000
OSHSYE AX CRURN L ALSLX
25,000,000& * 14l 25,000
HEE2Y 773,750 559,180 214,570
201 LB-2d| 115,270 115,700 A 430
01 At 22l 4,000 114,700 A 110,700
O e8| 4,000
oZUETE FHl e (78)
4,000,000& = 14l 4,000
02 =224l 111,270 1,000 110,270
OA& ZHl R Xl 110,700
o XIStAIE 2 (GIS) 2l AIAY (S/W) R XNE=
20,000,000& * 4&7I 80,000
oRNSAZFESEHMAH(S/N) RNES
15,000,000& * 14 15,000
oI NSAZFESEMAHHW) RNES
10,000,000& * 14 10,000
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¥y DEN INHBE 7
o2l SADIBAIE E2E 2Y (&)
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
oSSL-VPN S X &= 700,000& * 14 700
oXGtAIEE Z2lAIAE (H/W) S8+
5,000,000 = 14l 5,000
O332= % HAl 570
o ZZFHI(WRS) S8 =
47,500 = 141 « 1201 & 570
202 OHl 3,480 3,480 0
01 = LH 4 Hi 3,480 3,480 0
O323E2Z 0l 20,000& = 3% = 583 3,480
207 RO 25,000 0 25,000
02 & AHIH I 25,000 0 25,000
OXlot=&E AXDIGHAIAE 25
25,000,000 * 14l 25,000
401 Al HIZ 201 Y] 600,000 440,000 160,000
01 A& HI 560,000 400,000 160,000
OZ22 XNTIAEEE B7PE AU Y
400,000,000& * 14 400,000
020148 AtS XS GIS BR=E EX
100,000,000& » 14 100,000
OSZHXNQDIEE) SZXZA 89
40,000,000& * 14l 40,000
OXdt+=2d /X HEZA 2
20,000,000& * 14l 20,000
03 AlE S THHI 40,000 40,000 0
OZ22 XNTIAEEE B7PE SANAL Y
Sl 25,000,000 * 14l 25,000
020143 AMS XA GIS BRE EQ R0l
15,000,000& * 14 15,000
405 XHoHE S HI 30,000 0 30,000
01 AL ESFH S 30,000 0 30,000
OXISIAIEE SEXZAE XNJAANAE 2¢
3,000,000 * 10CH 30,000
datst AHZSR Hel 47,320 31,260 16,060
NEEREXN = 11,000 15,100 A 4,100
201 £B-2dH| 11,000 12,100 A 1,100
01 At 22l 11,000 11,000 0
Oger==EH| 11,000
oXH EREX = 242
200,000& = 502 X 10,000
cXAHAZHEH KA 250,000& = 404 1,000
SRENZERA2Y 1,680 1,680 0
201 Let2d] 1,680 1,680 0
01 At 22l 1,680 1,680 0
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